Christmas Sudoku Puzzle

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 9.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 3 BLOCK).

5 716 914
6 9 5|1 1|4 3 |2
8 |2 51916
4 1113 2 9
6 |39 .
51917 |4 3

8124|7319
917 2 |8 314 1
4 13 916 |2 7
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Answers

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 9.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 3 BLOCK).

51217163914 |1 |8
6 1985|147 ]3]2
311141827 [5]916
7141113162859
216 3[9|5 81|74
8519174116 2|3
1 1812147391615
9O1071612 8|53 4|1
4 13 5119|6287
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